
Multiply and Divide by 100 (C)Find each product or quotient.
1.57 × 100 = 6.804 ÷ 100 =
0.82 × 100 = 9.557 ÷ 100 =
4.8 × 100 = 5.4165 × 100 =
5.0539 × 100 = 6.56 × 100 =
3.2 × 100 = 3.3 × 100 =
9.2948 ÷ 100 = 2.7 ÷ 100 =
0.871 × 100 = 4.42 ÷ 100 =
9.29 × 100 = 3.6 ÷ 100 =
3.5 ÷ 100 = 6.02 ÷ 100 =
5.259 ÷ 100 = 7.08 ÷ 100 =
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Multiply and Divide by 100 (C) AnswersFind each product or quotient.
1.57 × 100 = 157 6.804 ÷ 100 = 0.06804
0.82 × 100 = 82 9.557 ÷ 100 = 0.09557
4.8 × 100 = 480 5.4165 × 100 = 541.65
5.0539 × 100 = 505.39 6.56 × 100 = 656
3.2 × 100 = 320 3.3 × 100 = 330
9.2948 ÷ 100 = 0.092948 2.7 ÷ 100 = 0.027
0.871 × 100 = 87.1 4.42 ÷ 100 = 0.0442
9.29 × 100 = 929 3.6 ÷ 100 = 0.036
3.5 ÷ 100 = 0.035 6.02 ÷ 100 = 0.0602
5.259 ÷ 100 = 0.05259 7.08 ÷ 100 = 0.0708
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